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CS-08
December - Examination 2017
BA/BSC Pt.lll Examination
Programming in Java
Paper - CS-08
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 7X2=14
(Very Short Answer Type Questions)
Note: Answer all questions. As per the nature of the questions
delimityouranswerin one word, one sentence or maximum
up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(37fcr STETRICHD H9)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) Whatis JRE?

JRE @37 §?
(i) Write the use of extends keyword?
TRICS hige bl TN ST |
(iii) What is Array?
W FT g2
(iv) What is package?
Ul T & ?
(v) What is Applet?
Tl a7 8 2
(vi) What are the constants in Java?
ST | @iReC 4T @ 2
(vii) What is Type Casting?
ScT I8y gRad T g ?
Section - B 4 X7=28

(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

(Tvs - 9)
(oTg ITRIT UeA)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 3feIhad
200 grect # AT HfTTl T 59T 7 3T @l ¢

2) What is a copy constructor? Explain with the example.

BT FcFR AT g 2 ISR P AT THAT3N|
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3) Explain the control statements in java.
ST B il T AT
4) Explain inheritance and encapsulation in java.
STeT ¥ inheritance 3iR encapsulation &7 TS|

5) Explain the term Exception Handling.

TR gefei & IR B 18y |

6) Explain the difference between method overloading and
method overriding.

Horg MRS 3R Hog NIRRT B 7 TR ALY |

7) What is thread? Explain the life cycle of a thread.
IS AT §? IS & Sia deh Dl TS|

8) Explain the concept of CLASSPATH.
CLASSPATH &I 31aeRuT FaTgd |

9) What are java tokens? Explain.
STTAT S T 8 2 I |

Section-C 2X14=28
(Long Answer Questions)
Note: Answer any two questions. Each answer should not
exceed 500 words. Each question carries 14 marks.

(Tvs - w)
(Sref TR ¥9A)
fAder : ool g U9l & SR STV 31T 3109 TR B 3ferepad 500
gregt B gRAIT HITTI U T 14 3fepi P &
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10) Explain AWT Controls in details?

AWT Controls & foRYded & FH|

11) Explain all elementary data type in java.

ST § Tt grAfies S ey B qHEAnN|
12) Explain the Applet Life Cycle?

(lelc Gall Igth Hdlgdhed GANGES! Qq\daﬁ WI

13) Write a java program to draw human smiley face.

STET § human smiley face 3MHd &_= @1 MM forRav|
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